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A tree doubled in height each year until it reached its maximum height over
the course of ten years. How many years did it take for the tree to reach half
its maximum height?

Can you translate this sentence?
1004180

Two mothers and two daughters were fishing. They managed to catch one fat
fish, one big fish, and one small fish. Since only three fish were caught, how is
it possible that they each took home a fish?

The maker doesn’t want it, the buyer doesn’t use it, and the user doesn’t see
it. What is it?

What is the next letter in the following sequence?
TTFFSS

There is a word in the English language in which the first two letters signify a
male, the first three letters signify a female, the first four letters signify a
great man, and the whole word, a great woman. What is the word?

What is at the beginning of eternity, the end of time, the beginning of every
end, and the end of every place?

How many cubic metres of dirt are in a hole 6 metres long, 2 metres wide and
1 metre deep?

What is unusual about the following words?
BOUGH, COUGH, DOUGH, ROUGH, THROUGH.

10 What are the next two letters in the following series?

AEFHIKLM ..



